2Mbps Channel 1 Processing Gain

Gp=(S/N)o+Mj+Lsys

Freq. Gp| (S/N)o| Mj=1/S Lsys Jammer Lvl| FE
(MHz)|  (dB) (dB) (dB) (dB) (dBm)| (dBm)| R
2403.50[ 17.4 12.6 2.8 2 =272 -30[5. 8
2403. 55 17 12. 6 2.4 2 =200 -30] 6. 7
2403. 60 16.7 12. 6 21 2 =279 -30[6.5
2403. 65| 16.6 12. 6 2 2 -28 -30] 6
2403. 70 16.5 12. 6 1.8 2 -28. 1 -30] 6. 3
2403. 75| 16.4 12. 6 1.8 2 -28. 2 -30/6. 8
2403. 80| 16.3 12. 6 1.7 2 -28. 3 =30 6
2403. 85| 16.4 12. 6 1.8 2 -28.2 -30[{ 5. 9
2403.90, 16.5 12. 6 1.8 2 -28.1 -30/ 6.4
2403. 95| 16.5 12. 6 1.8 2 ~28. 1 -30[5. 6
2404. 00| 16.6 12. 6 2 2 -28 -30[ 6.7
2404. 05| 16.6 12. 6 2 2 =28 -30] 6. 3
2404.10| 16.4 12.6 1.8 2 -28. 2 -30( 6. 2
2404.15| 16.5 12. 6 1.9 2 =28, 1 =30/ 5.4
2404.201 16.5 12. 6 1.9 2 ~Z8. | -30] 5. 2
2404. 25| 16.4 12.6 1.8 2 -28.:2 30| 6
2404. 30 16.3 12. 6 1.7 2 ~28. 3 -30(5. 6
2404. 35| 16.2 12.6 1.6 2 -28. 4 -301 6.4
2404. 40, 16.1 12.6 1.5 2 ~28..5 -30] 6. 2
2404. 45 16 12.6 1.4 2 -28. 6 -30[6. 7
2404. 50| 15.9 12. 6 1.3 2 -28. 7 -30[ 7.3
2404. 55| 15.7 12.6 1.1 2 -28.9 -30/ 6. 1
2404. 60| 15.5 12. 6 0.9 2 -29. 1 -30] 5. 8
2404. 65| 15.4 12.6 0.8 2 ~29. 2 -30/6. 9
2404. 70| 15.4 12. 6 0.8 2 20, 2 -30]6. 3
2404. 75 15.3 12. 6 0.7 2 -29. 3 -30] 6. 4
2404. 80, 15.3 12, 6 0.7 2 -29. 3 -30[ 5.7
2404. 85| 15.2 12.6 0.6 2 -29.4 =30/ 5. 6
2404. 901 15.3 12.6 0.7 2 -29. 3 -30(5. 4
2404. 95| 15.4 12. 6 0.8 2 =29.2 -30[5. 1
2405. 00| 15.4 12. 6 0.8 2 =29.2 -30/4. 8
2405. 05 15.5 12. 6 0.9 2 =29. 1 =30 5.1
2405.10, 15.5 12.6 0.9 2 =28, 1 -30/ 6. 3




2405. 15| 15.5 12.6 0.9 2 -28: 1 -30] 6. 2
2405.20] 15.6 .8 1 2 =29 =30/ 5.7
2405. 25| 15.5 12. 6 0.9 2 +29; 1 -30/ 5.6
2405.30) 15.4 12. 6 0.8 2 -29. 2 -30{ 4.7
2405. 35 15.3 12. 6 0.7 2 -29. 3 -30[ 5.8
2405. 40, 15.3 12. 6 0.7 2 -29. 3 -30[ 6. 3
2405. 45 14.8 12. 6 0.2 2 =29, 8 -30] 6.7
2405. 500 15.7 12. 6 1.1 2 -28. 9 -30/ 6. 5
2405. 55| 14.3 12. 6 0 2 -30. 3 -30 7. 3
2405. 60, 14.2 12. 6 -0.4 2 -30. 4 -30| 6. 2
2405. 65| 14.1 12. 6 =08 2 -30. 5 -30[ 5. 1
2405. 70, 14.1 12. 6 ~0.8 2 -30.5 -30| 5.5
2405. 75| 14.1 12. 6 -0.5 2 -30. 5 -30] 5. 7
2405. 80f 14.1 12. 6 =08 2 =30. 5 -30| 6
2405. 85| 14.1 12. 6 -f.5 2 -30. 5 -30| 5.8
2405.90) 14.3 12. 6 -0.3 2 -30. 3 -30] 6. 1
2405. 95 14.4 12. 6 ~-{}, .4 2 -30. 2 =301 7.3
2406. 00/ 14.5 12. 6 ={..] 2 -30. 1 -30] 7.1
2406. 05 14.8 12. 6 0:.2 2 =29. 8 -30] 6.5
2406. 10 15 12. 6 0.4 2 -29.6 -30/6. 3
2406. 15| 14.9 12. 6 0.3 2 =28 1 -30] 6. 1
2406.20) 15.5 12. 6 0.9 2 =281 -3015.5
2406. 25 16 12. 6 1.4 2 ~28. 6 -30/5.8
2406. 30| 17.1 12. 6 2.9 2 ~Zda ) -30/6. 6
2406. 35 16.8 12. 6 2.2 2 -27.8 -30] 6. 1
2406. 40| 15.9 12. 6 1.3 2 ~28.1 -3016.7
2406. 45| 16.3 12.6 1.7 2 ~28..9 -3016.9
2406. 50 16.1 12. 6 1.5 2 28,0 -30| 7. 6
2406. 55| 15.7 12. 6 1.1 2 =289 -30] 7.1
2406. 60 16 12. 6 1.4 2 -28. 6 -30/ 7.3
2406. 65 16.2 12. 6 118 2 -28. 4 -30/6. 8
2406. 70, 15.8 12. 6 1.2 2 -28. 8 -30/ 6. 2
2406. 75| 15.6 12. 6 | 2 ~29 ~30| 5.9
2406. 80, 15.2 12. 6 0.6 2 ~28..4 -30]5. 6
2406.85 14.9 12.6 0.3 2 29,7 -30/5.4
2406. 90, 14.2 12. 6 -0.4 2 -30. 4 -30/ 5. 9
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2406. 95| 13.8 12. 6 -0.8 2 -30. 8 -30

2407.00] 13.7 12.6 =0. 9 2 -30. 9 -30] 5.
2407.05] 13.4 12. 6 =12 2 -31.2 -30| 5.
2407.10] 13.6 12. 6 -1 2 -31 -30] 4.
2407.15 13.5 12. 6 =1 2 =31 -30] 5.
2407.20) 13.1 12. 6 =18 2 -31.5 -30] 5.
2407.25 13.2 12. 6 -1.4 2 -31.4 -30| 6.
2407.30, 13.5 12. 6 -1.1 2 -31. 1 -30] 6.
2407.35 13.1 12. 6 ~1.8 2 -31.5 -30] 6.
2407. 401 13.5 12. 6 -1.1 2 -31.1 -30| 7.
2407. 45| 13.6 12. 6 =1 2 -31 -30] 6.
2407.50] 13.8 12. 6 -0.8 2 -30. 8 -30] 5.
2407. 55 4 12. 6 -0.6 2 -30.6 -30] 5.
2407.60] 13.8 12. 6 -0.8 2 -30. 8 -30] 6.
2407.65) 13.7 12. 6 =09 2 -30..9 -30| 5.
2407.70] 13.8 12. 6 -0.8 2 -30. 8 -30] 5.
2407.75 13.8 12. 6 -0.8 2 -30. 8 -30| 7.
2407.80) 13.7 12. 6 =0.8 2 ~80; 9 -30] 6.
2407.85 13.7 12. 6 ~0.9 2 =39 -30] 6.
2407.90| 13.7 12. 6 =0.8 2 -30. 9 -30] 5.
2407. 95| 13.6 12. 6 -1 2 -31 -30] 5.
2408. 00| 13.6 12. 6 -1 2 -31 -30] 6.
2408. 05 13.3 12. 6 o P8 2 =3l. 8 -30] 6.
2408.10f 13.1 12. 6 =Jid 2 -31. 5 -30| 5.
2408. 15| 13.1 12. 6 =8 2 -31. 5 -30] 7.
2408. 20, 12.9 12.6 -1.7 2 -31.7 -30] 6.
2408. 25 13.1 12.6 -1.8 2 -31. 9 -30] 6.
2408. 30| 12.8 12.6 -1. 8 2 -31. 8 -30{ 4.
2408.35 12.8 12. 6 i 2 =31, 6 -30] 5.
2408. 40, 12.8 12, 6 =158 2 -31. 8 -30| 6.
2408. 45| 12.9 12; 6 =1 2 -31. 7 -30] 6.
2408.50, 12.9 12.6 “Loas 1 2 ~3L. 1 -30| 5.
2408. 55| 12.8 12. 6 ~1...8 2 -31. 8 -30] .
2408.60] 13.1 12. 6 ]l 2 -31. B -30] 5.
2408. 65| 13.2 12.6 -1.4 2 -31. 4 -30| 6.
2408. 70 12.8 12. 6 -1. 8 2 -31. 8 -30] 6.

—1|—= | 0O | 0| 1|00 | — || & |00 || N|W 0D D1 W|ND | —= D] J|Co0|W[C0]|— ||




2408. 75 12.8 12.6 =1. 8 2 -31. 8 -30| 6. 6
2408.80| 12.9 12.6 =1:7 2 -31. 7 -30]5. 7
2408.85 12.7 12. 6 =18 2 -31. 9 =30 5. B
2408.90| 12.7 12.6 -1. 9 2 =31 8 -30] 6. 2
2408.95| 12.5 12. 6 ~%rl 2 -32. 1 -30/6.4
2409.00, 12.4 12. 6 <Dy 2 ~08 0 -30({ 4.8
2409.05| 12.2 I2.6 -2.4 2 -32. 4 -3016.3
2409.10] 12.4 12..6 ~2.2 2 =822 -30] 5. 4
2409. 15| 12.1 12. 6 -2..9 2 =329 -30/6.1
2409.20| 12.7 12. 6 = 2 -31. 9 -30] 6. 2
2409.25) 12.1 12. 6 ~2s 9 2 -32. 9 -30/5.8
2409, 30[ 12.1 12.6 =Z: b 2 “32.'0 -30/6.7
2409. 35 12.2 12.6 -2.4 2 -32.4 -30] 6. 2
2409.40| 11.9 128 =& 1 2 -32. 7 -30] 6. 3
2409.45 12.2 12.6 -2.4 2 -32.4 -30] 6. 6
2409.50{ 12.1 12. 6 ~2.8 2 -32.5 -30] 6.5
2409. 55 12 12. 6 -2.6 2 -32. 6 -30] 6. 9
2409.60[ 12.1 12. 6 —2. 5 2 =32, 5 -30{ 7.6
2409. 65| 12.3 12. 6 ~&: 3 2 -32. 3 -30{ 6. 3
2409.70, 12.1 12. 6 ~2.9 2 -32. 9 ~30( 5.9
2409. 75 12 12. 6 =2:0 2 -32. 6 -30]16.4
2409. 80| 12.1 12. 6 =29 2 -22. B -30] 6. 1
2409.85 12.3 12. 6 -2.3 2 -32. 3 -30{ 6. 2
2409. 90 12 12. 6 ~2.0 2 -32. 6 -30/ 5.8
2409. 95 12 12.6 ~2h 2 -32. 6 -30/ 5.3
2410.00{ 11.8 12.6 ~2..8 2 -32. 8 -3015. 6
2410.05 11.8 12. 6 ~2./8 7 ~32.8 =30 5.5
2410.10{ 11.5 12.6 -3. 1 2 -33. 1 -301 6. 3
2410. 15| 11.8 12. 6 -2. 8 2 =320 -30[9.8
2410.20{ 11.2 12. 6 -3.4 2 -33.4 -30{ 6. 6
2410.25| 11.6 12. 6 -3 2 -33 -30/ 6. 1
2410.30, 11.3 12. 6 -3.3 2 -33. 3 -30{ 6.7
2410.35 11.6 12.6 -3 2 -33 -30{ 5. 7
2410.40, 11.6 12.8 -3 2 -33 =301 7.6
2410.45] 11.7 12.6 —2. 9 2 -32; 9 =30 7.2
2410.50) 11.8 12. 6 -2.8 2 -32.8 -30{ 7. 1




2410. 55| 11.9 12. 6 -2.7 2 -32. 7 -30| 6. 8
2410.60[ 11.9 12. 6 =2.1 2 =32, T -30/ 6. 3
2410. 65 12 12. 6 ~2..6 2 -32. 6 -30| 6. 5
2410.70| 11.9 12. 6 <& T 2 -32. 7 -30[ 6. 1
2410. 75 11.9 12.6 a1 2 -32. 7 -30] 6. 2
2410. 80| 11.9 12. 6 =2 2 -32. 7 -30/ 6. 9
2410.85] 12.1 12. 6 2.8 2 -32.5 -30/ 6. 6
2410.90, 11.9 12. 6 -2, 1 2 -32. 7 -30{ 6. 1
2410.95] 11.7 12. 6 =2. 9 2 -32. 9 -30] 6. 7
2411.00] 11.5 12,8 -3. 1 2 -33. 1 -30/ 6.6
2411. 05| 11.4 12.'6 -3.2 2 -33. 2 -30] 6. 3
2411. 10 11 12.6 -3.6 2 -33. 6 -30[ 6. 8
2411.15 11.2 12. 6 ~3. 4 2 -33. 4 -30] 6. 1
2411. 20 11 12. 6 -3. 6 2 -33. 6 -30] 6. 7
2411.25 11.1 12. 6 -3.5 2 -33.9 -30( 6.4
2411.30[ 11.1 12. 6 ~3.9 2 -33. 5 -3014. 8
2411. 35| 11.3 12. 6 -3. 3 2 -33. 3 -30/5. 6
2411. 40| 11.2 12. 6 -3. 4 2 -33. 4 -30[6. 3
2411.45] 11.3 12. 6 -3. 3 2 -33. 3 -30/6.7
2411.50| 11.6 12. 6 -3 2 -33 -30] 6. 2
2411.55| 12.4 12. 6 “id 2 =0k 2 -30/ 6.8
2411.60f 12.6 12. 6 = 2 -32 -30[ 6. 3
2411. 65 12.8 12. 6 -1.8 2 -31. 8 -30[ 5.9
2411.70] 13.7 12. 6 -0.9 2 -30. 9 -30] 6
2411.75 16 12. 6 1.4 2 -28. 6 -30[5. 7
2411. 80| 16.4 12. 6 1.8 2 ~28. 2 -30] 7. 9
2411.85| 16.3 12,6 1.7 2 -28. 3 -30] 6. 4
2411.90| 16.6 12.'8 2 2 -28 -30/4. 8
2411.95| 16.8 12. 6 Z: 2 2 -27. 8 -30[ 6.9
2412.00{ 16.5 12. 6 1. 9 2 -28. 1 -30[ 5.4
2412.05) 15.8 12. 6 1 2 2 =28.8 -30{ 6.5
2412.10) 15.7 12. 6 I 1 2 -28. 9 -30/ 7.6
2412.15| 15.4 12. 6 0.8 2 -29. 2 -30| 7.1
2412.20, 15.2 12. 6 0.6 2 ~29.4 -30] 6. 7
2412.25| 14.3 12.6 -0. 3 s -30. 3 -30( 5. 6
2412. 30 13 12. 6 -1. 6 2 -31. 6 -30( 7. 4




2412. 35 12 12. 6 =00 2 -32. 6 -30/ 6. 8
2412.40, 11.8 12. 6 =218 2 -32. 8 -30] 6. 3
2412.45] 11.5 12.6 -3.1 2 -33. 1 -30|5.9
2412.50f 11.5 12.6 -3. 1 2 -33. 1 -30] 6. 2
2412.55] 10.9 12.6 =3 T 2 -33. 7 -30]| 7. 1
2412.60[ 10.6 12.6 -4 2 -34 -30| 7.3
2412. 65 10.1 12.6 -4.5 2 -34. 5 -30[ 7.4
2412. 70 11 12. 6 -3.6 2 -33. 6 -30] 6.8
2412. 75 10.8 12. 6 -3.8 2 -33. 8 -3015.8
2412.80] 11.1 12. 6 -3. 9 2 -33. 5 -30] 6.7
2412.85 11.5 12.6 -3.1 2 -33. 1 -30/ 6. 6
2412.90, 11.1 12.6 =3: @ 2 -33. 9 -30] 6. 9
2412, 95 11.7 12.6 ~2.8 2 ~32. 9 =300 7
2413. 00 12 12. 6 ~2i:0 2 -32. 6 -30/7.6
2413.05] 11.9 12. 6 N 2 -32. 1 -30{ 6. 3
2413.10] 11.8 12. 6 ~2.:8 2 -32. 8 -30| 5.2
2413.15 12 12. 6 =20 2 -32.6 -30]5. 4
2413.20| 11.9 12. 6 =2 T 2 -32.7 -301 4.6
2413.25) 11.8 12. 6 =28 2 -32. 8 -30{ 5.6
2413.30F 11.7 12. 6 2.9 2 -32.9 -30( 7.4
2413.35 11.9 12. 6 =2 T 2 =38, | -30| 6. 8
2413.40, 11.8 12.6 -2. 8 2 -32. 8 -30] 6. 3
2413.45| 12.3 12,56 -2.3 2 -32. 3 -30[ 5.9
| 2413. 50 11,6 12.6 -3 2 -33 -30] 6. 2
2413.55 11.7 12. 6 -2.9 2 ~32. B =30 7.1
2413.60 11.3 12.6 -3. 3 2 -33. 3 -30| 7.3
2413.65 11.5 12. 6 -3. 1 2 -33. 1 -30] 7.4
- 2413.70 11 12.6 -3. 6 2 -33. 6 -30{ 6. 1
2413.75] 11.4 12.6 3.2 2 -33. 2 -30] 5.8
2413.80] 11.6 12.6 -3 2 -33 -30] 6. 7
2413.85 11.5 12.6 -3.1 2 -33. 1 -30{ 5. 3
2413.90] 11.3 12.6 -3. 3 2 -33. 3 -30{ 5. 8
2413.95 11.7 12. 6 ~2..8 2 =94y 9 -30/ 6. 3
2414.00] 11.9 12. 8 2 1 2 -32.7 -30{ 6.7
2414.05 11.8 12..8 ~2..8 2 -32. 8 -30] 6. 2
2414.10] 11.9 12.6 2. 1 2 -32.7 -30{ 5.6




2414. 15 12 12. 6 -2.16 2 -32. 6 -30/ 6. 3
2414. 20 12 12. 6 ~2..8 2 -32. 6 -30/6. 8
2414. 25 12 12. 6 =26 2 -32. 6 -30] 6. 1
2414.30] 12.1 12. 6 =i 2 =32:9 -30/6. 9
2414. 35 12 12. 6 =20 2 =32. 8 -30] 6. 2
2414. 40, 12.3 12. 6 -2.3 4 -32. 3 -30/ 5. 9
2414. 45 12.1 12. 6 =25 2 -32. 5 -30] 6. 1
2414.50, 11.8 12. 6 =28 2 -32. 8 -30| 8. 7
2414. 55 12 12. 6 ~2.6 2 -32. 6 -30/6. 6
2414. 60| 12.2 12. 6 -2.4 2 -32. 4 -30[4.8
2414.65 11.9 12. 6 -2, 1 2 =0 | 30| 5
2414. 70 12 12. 6 =20 2 -32. 6 -30[4. 4
2414.75] 11.9 12. 6 =B | 2 =32; 1 -30[5. 8
2414.80] 12.3 12. 6 =2, 9 2 -32. 3 =301 7.1
2414.85 11.9 12,6 “g | 2 “Dd -30[4.8
2414.90] 12.1 12,5 ~2. 5 2 -32.5] - -30[5.7
2414. 95 12 12..8 ~2. b 2 =32..8 -30{ 6.5
2415.00{ 12.4 12. 6 . 2 ~ Dl -30/ 5. 8
2415.05] 12.3 12. 6 ~2. 3 2 -32. 3 -3016.7
2415.10] 12.4 12. 6 -2, 2 2 — 4.2 -30/ 6.6
2415.15| 12.1 12. 6 ~2, D 2 —32.9 -30/6.1
2415.20] 12.5 12.6 = 1 2 =32: 1 =30] 5. 9
2415.25| 12.8 12;6 -1.8 2 -31. 8 -30] 6. 2
2415.30f 13.1 12. 6 “J B 2 -31. 5 -3015.6
2415.35| 12.9 12.6 =l 2 -31. 7 -30] 6. 8
2415.40f 13.1 12,6 -1.5 2 -31. 9 -30] 6. 3
2415. 45 13 12. 6 -1.6 2 -31. 6 -30{ 5. 9
2415.50] 12.9 12. 6 =1, 2 -3l 1 -3015. 7
2415.09| 12.8 12. 6 -1.8 2 -3l 8 =30/ 6. 3
2415.60] 12.9 12. 6 =1, i 2 —al. [ -30 6
2415.65 12.8 12.8 -1.8 2 -31. 8 -30/6.1
2415.70, 12.6 12,8 =2 2 -32 =30/ 5.7
2415. 75| 12.4 12. 6 ~2 2 2 =02: 2 -30{ 5. 9
2415.80) 12.8 12. 6 =1 2 -31. 8 -30[5. 5
2415. 85 13 12. 6 -1.6 2 -31. 6 -3015. 3
2415.90) 13.1 12. 6 1. 9 2 -31.5 -3015.4




2415.95 13.5 12. 6 =l ] 2 -31. 1 -30] 5. 1
2416.00] 13.5 12. 6 =k 2 =311 -30/ 5.4
2416. 05| 14.4 12. 6 -0.2 2 -30. 2 -30[6. 3
2416.10f 13.8 12.6 -0.8 2 -30. 8 -30/7. 6
2416. 15| 13.8 12, 6 -0.8 2 -30. 8 =301 7.1
2416.20] 13.8 12.6 -0. 8 2 -30. 8 301 7T
2416. 25| 14.2 12. 6 -0.4 ‘ -30. 4 -30[6. 3
2416. 30 14 12. 6 -0.6 2 -30. 6 -30]5.4
2416. 35| 14.1 12. 6 -0.5 2 =30.5 -30/5.8
2416. 40| 13.8 12.6 =08 2 -30. 8 -3016. 2
2416.45] 13.9 12. 6 =07 2 -30. 7 =301 T
2416.50] 13.7 12. 6 -0.9 2 -30. 9 -30] 6. 3
2416. 55| 13.8 12. 6 -0.8 2 -30. 8 -30/ 6.9
2416.60] 13.7 12,6 -0.9 2 -30. 9 -30[5. 7
2416. 65| 13.3 12. 6 -1.3 2 -31. 3 =30 5. 2
2416. 70, 13.3 12. 6 -1.3 2 -31. 3 -30/ 7.1
2416. 75 13 12.6 =], § 2 -31. 6 -3016.7
2416.80| 12.8 12. 6 -1.8 2 918 -30(6. 3
2416.85] 13.8 12. 6 =0; 8 2 -30. 8 -301 6. 4
2416.90[ 13.3 12. 6 -1.3 2 -31. 3 -30] 6. 8
2416.95] 13.9 12. 6 -0.7 2 -30. 7 =301 7
2417.000 13.9 12.6 0. 7 2 -30. 7 -30/ 6. 3
2417.05] 13.9 12.6 =, 2 -30. 7 -3016.7
2417.10f 14.1 12. 6 -0.5 2 -30. 5 -30] 6
2417.15] 13.9 12. 6 -0.7 2 -30. 7 -30] 6. 3
2417.20| 14.5 12. 6 -0. 1 2 -30. 1 -30] 6.6
2417.25| 14.3 12. 6 -0.3 2 -30. 3 -30( 7. 2
2417.30) 14.8 12. 6 0.2 2 ~29. 8 -30[ 6. 1
2417. 35 16 12. 6 1.4 2 -28.6 -30] 6. 4
2417.40{ 16.8 12. 6 2y & 2 -21: 8 -30{ 6.9
2417. 45| 16.5 12.6 1. 8 2 -28. 1 -30/ 6.8
2417.50, 17.3 12 & 2.7 2 -27. 3 -30[ 7. 1
2417.55 16.9 12. 8 2.3 2 =271 -30{ 6. 3
2417.60, 16.6 12. 6 2 2 -28 -30/ 5.8
2417.65) 16.3 12. 6 1.7 2 -28.3 =30/ 6.5
2417.701 16.7 12. 6 2: 1 2 -27: 9 -30{ 6. 3




2417.75| 16.1 12. 6 1.8 2 -28. 9 -30[5. 7
2417.80| 15.8 12. 6 1.2 2 -28. 8 -30/ 5.9
2417.85] 14.8 12.6 0.2 2 -29, 8 -30] 6. 1
2417. 90 15 12. 6 0.4 2 -29. B -30| 6
2417. 95| 15.1 12. 6 0.5 2 ~29. B -30] 6. 3
2418.00] 14.4 12. 6 -0, 2 2 -30. 2 -30/ 5.9
2418. 05| 13.9 12. 6 -0.7 2 -30. 7 -30/ 6.5
2418.10[ 14.2 12. 6 -0.4 2 -30.4 -30] 7.1
2418.15| 14.5 12. 6 -0. 1 2 -30. 1 -30] 6. 7
2418. 20 14 12.6 -0.6 2 -30. 6 -30] 6
2418.25| 14.1 12. 6 -0.5 2 -30.5 -30/6.4
2418.30| 14.4 12. 6 =0 2 2 -30. 2 -30/ 6.6
2418. 35 14.7 12. 6 0.1 2 =28 § -30[ 6. 3
2418.40| 14.6 12. 6 0 2 -30 -30{ 6. 2
2418. 45| 15.5 12. 6 0.9 2 =29, 1 -30/ 5.9
2418.50| 15.1 12. 6 0.5 2 -2, 9 -30/6. 2
2418.55 15.4 126 0.8 2 -29, 2 -30] 5. 8
2418.60| 15.2 12:6 0.6 2 -29.4 -30[5. 6
2418. 65 15 12.6 0.4 2 =29. 6 -30[ 4.9
2418.70| 15.3 12.'8 0.7 2 -29:.3 -30l 5
2418. 75| 15.2 12.18 0.6 2 ~28. 4 -30/ 5.3
2418.80{ 15.4 12. 6 0.8 2 ~28.2 -30/5. 7
2418.85] 15.6 12. 6 1 2 -29 30 6
2418.90( 15.4 12. 6 0.8 2 -29. 2 -301 6. 2
2418. 95| 15.1 12. 6 0.5 2 ~29.5 -30] 6
2419. 00| 15.1 12. 6 0.5 2 =205 -30] 6. 1
2419.05 15.5 12,6 0.9 2 =29, 1 -30/ 5.8
2419.10) 15.3 12,6 0.7 2 =293 -30] 5. 6
2419. 15| 15.1 12.6 0.5 2 <295 -30{ 2. 7
2419.20] 15.3 12. 6 0.7 2 ~29.3 -30] 5.2
2419.25| 15.2 12.6 0.6 2 ~29.4 -30/5. 8
2419. 30| 15.4 12. 6 0.8 2 =292 -30] 6.4
2419. 35| 15.1 12. 6 0.5 2 ~29.9 -3019.9
2419.40] 15.6 12. 6 1 2 ~29 -30[ 7.4
2419. 45 15.8 12. 6 1.2 2 -28.8 -30] 6. 3
2419.50, 15.9 12. 6 1.3 2 -28.7 -30{ 5. 6




| Processing Gain (dB) @20th Percentile=

—

2419.55| 16.2 12. 6 1.6 2 -28. 4 -30/ 6. 4
2419.60] 15.9 12.6 1.3 2 =20, i -30/ 7. 6
2419. 65| 16.3 12. 6 L, T 2 -28.3 -30/6. 8
2419.70] 16.4 12. 6 1.8 2 -28.2 -30] 6. 6
2419.75] 16.6 12. 6 2 y/ -28 -30] 6. 2
2419.80, 16.4 12.6 1.8 2 -28. 2 -30/ 6. 8
2419.85| 16.3 12. 6 1.7 2 -28. 3 -30/ 6.5
2419. 90 16 12. 6 1.4 2 -28. 6 -30{ 6.3
2419.95] 15.8 12. 6 1.2 2 -28. 8 -30[ 6.9
2420. 00| 16.4 12. 6 1.8 2 =282 -30[ 7.3
2420. 05 16 12. 6 1.4 2 -28. 6 -30(6.6
2420. 10| 16.2 12. 6 1.6 2 -28. 4 -30]/ 6.8
2420.15 16 12. 6 1.4 2 -28.6 -30( 5. 1
2420. 20| 16.3 12. 6 Lo 1 2 ~28. 3 -30| 6. 3
2420. 25| 16.2 12.6 1.6 2 -28.4 -30/ 7.1
2420. 30 16.1 12.6 1.5 2 -28.5 -30/ 6. 6
2420. 35| 16.1 12.6 1.5 : -28..5 -30]6.1
2420.40{ 16.4 12. 6 1.8 2 =484 -a0| 8. 7
2420. 45| 16.2 12. 6 1.6 2 -28.4 -30/ 6. 4
2420. 50| 16.7 12. 6 2: 1 2 ~27..9 -30] 6. 2
2




Processing Gain (dB

2Mbps Channel 1 Processing Gain

29 ; ———
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